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1@ smmgwoim.mw (1 mark)

(5) The disgram below represens acel organele.

()  Nome the partabelled Y. - Qmak)
()  State the fnction of the part abelled X. (1 mark)

Name the part of a flower that develops into - .
@ seed ' - (1 mark)

® it | - S (I mark)
@ _Nmnetwoﬁmsi:;phntswlﬁchmthick@edyith lignin, (2 marks)
® Howiswppot‘tannined-m.herbweouq plants? - (1 mark)

4 '(a)“ r{a._mc'tlwﬂuidthaglsmmbym‘ glants. it
(b)  What s the role of sweat onﬂnhumnslnn? (2 marks)

State two ways in hich floating leaves of aquatic plants are adapted to gueous exchange.

(2 marks)
(a)  State three characteristics of Monera that are not fourd in other kingdoms.
{3 marks)
(b)  Name the class to which a termite belongs. (1 mark)
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7.

® v Namconcﬂefec%oﬂhecircuhtorysymminhmqs. ' ' (1 mark)’

(o) State three functions of blood other than transport. (3 mparks)

10

11

12

13

14

s:atemeroie ofvuammCm humans. ' | (2 marks)
™ ‘smmproewwluehmmﬂsmmof mitosis. @ marks)

o mummﬁmofmm? | | @)

smt!um\pomme ofm%tic mpoueamonamnemembeuofhngdoml’mﬂmu k)
‘ Sm:hero!eofmmlmmmchmmbody | o | T (1 mak)

An experiment was set up as shown in the diagram below.

= =>—Glass rod
. Thread

‘Sucrose solution
Visking tubing
Distiled woter

The st up was left for 30 minutes.

(2) . State the éxpected results. S (1 mark)
()  Explain your answer in (a) above. - (3 marks)
(@ lnwhatforh:ismgystbredinmuscles? ' _ ' (1 mark)
®) State the eeonomnc importance of anaerobic respiration in plants. (2 marks)

(@)  Disfinguish between epigeal and hypogeal germination. (1 mark)
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16

17

20

() Whyisoxygqnneceuaxfihﬁnegernﬁmﬁondfu!eds? (2 marks)
Explain continental drift as an evidence of evolution, . (3 marks)
What is the importance of the following in an ecosystem? (2 marks)
(8) Decomposers. ‘
(b)  Predation.
(a) Distinguish between the terms homodont and heterodont. " {1 mark)
(V) Whatis thic function of camassial teeth? - (1 mark)
(). A certain inimaking no incissors, o canines, 6 premiolars and 6 molary n its upper jaw.
- Inthe lower ji thero are 6 incissors, 2 canines, 6 premolars snd 6 molars.  ©
Write its demtal formola. o © (mak)
(8)  State twe fimotion of bile juice in the digestion of food. (@ marks)
®) qu does substrate concentration affect the rate of enzyme action? . M) R
(8)  Explain how the following prevent self-pollination: ,
() protoendry | o (I mark)
@ selfwerily. O (e
() Give three ldvmtages o( cross-poliination. (3 marks)
(2} What name is given 1o response to contact with surface exhibited by tendrils and
' climbing stems in plants? ' ' (1 mark)
) State ttréebiologi_cal, importance of_‘ tropisms to plants. {3 marks)
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21 mdmmbebwmuamﬂexmmm

x-——d.-—-'v

B e
&

()  Name the parts lobelled X and Y.

(2 marks)
()  Name the substance that is responsible for the transmission of an impulse across the
synapse. ' C : L (1 mark)
22 (a Vb‘StatethcfunCtioaofmeciliuy:nuucluinuzehumneye. g (1 mark)
(b) * State two functional differences between the rods and cones in the human eye.
C o ' (2 marks)
23 State the function of each of the following parts of human car. (4 marks)

(a)  Ear ossicles.
"(®)  Cochiea.

() Semi-circular canals.

(@)  Bustachian tube.
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24 .Sﬁxcfourwaysinwhkhmspirm«ymﬁeqsmmitedto&cirfuncﬁon. (4 marks)

25 (a) Adogwengmg152kgrequuu216k]whﬁeamomwmghmgsogreqmresz736k1
per day. Explain. ‘ (2 marks)

() What nﬁxeend-prodtm oflespmtwn in animals when there is insufficient oxygen
supply? (1 mark)

26 The chartbélow represents a simplified nitrogen cycle. .

. What is represented by X, Y and Z? | (3 marks)

27 Name'the eﬁd—products of the light stage in photosynthesis. o (2 marks)
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